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TRI0EE KNS HAERETISE

BERBERX (1.72)

LB 49
TE.EH
T i& E A G| Al B4 | RAHE|BEHRE|RE &
EIER m 38.0
+T t 1.0 1
FRIEY T NREE m 15.2 20
HEREL T8 INRAR m 3.8 4
TREER | TR EE m 11.0 10
i B2 AN TOUNIE m 11.0 10
BT % 1.0 1
B e AEEIE 300 x 300t ) m 38.0 38
JL—FooE
BHAEEIEZ (300 T-25iiH L=500 b4 4 4
BHAIRAES |3V 0)—rE HEER L=500] #% 34 34
HET = 1.0 1
BHE979%70(RC-40)
TERAE t=275 m 11.4 11
979%7(C-20)
L ERAE t=220 m 11.4 11
REERIE B REME m 19.0 19
BEQFEHEAs(13)
=EI t=40 m 30.4 30
BEOFHEAS(13F)
=E1 t=30 m 41.8 42




TRE30FEE REM1EEAEREISE

BERBERX (272)

B EH
TEE: 49
T i& EOA G| Al B4 | RAHE|BEHRE|RE &
MT % 1.0 1
SERRUIMT  |AshR 15ecmBLTF m 77.7 78
SHEERREEEE  |AshR 10cmBELT m 483 48
AsTOEE - AL 43 |DIDE L=2.7km m 34 3 8.0t
W=300,t=30
INEERE LA | VIEIMTEA Ek-UrEaD | 1.0 1
Eigns &1 DIDHL=2.7km
BEYEUEL |SEEY m 1.6 2 4.1t
avy 'J—I~®1 8-8-40 W=300 t=100
D HEBRERER = 1.0 1
k&L % 1.0 1

M

RBEET |RBFEZHEESB AB 8.0 8




+ IR EFHEE

LER: 24
T EE
231 - 50 it & ® # 8
PRYEY
T8 MR V = 380 x 04 = 152 m
HEL
T8 MR V = 380 % 01 = 3.8 m
T HEE
T8 NREE V = 152 - 38 09 = 11.0 m
Eith

HITZANMTONIE|V = TREEREY 11.0 m




HF 7K IR EFHEE

7 - A1 B - #HE

B HOERIE

300 x 300(iftHiA) |L = 380 = 38.0 m
BHAEAES
JL—Fo0%&

300F T-253iFH L=500[N = 380 <+ 100 m/EFkT = 4 1%

BHAEAES

avyy—hE BEA =50l N = 380 - 4 " = 34 ¥
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INEF: S

BAEY79v1v72(RC-40)
t=275

38.0

0.30

11.4 m

LB

979%7(C-20)
=220

38.0

0.30

11.4 m

TREZIE

8 M

38.0

0.50

19.0 m

RET

BAEQZEHEAS(13)
=40

38.0

0.80

30.4 m

RIE 1

BEOFEHEAS(13F)
=30

38.0

1.10

41.8 m




M IR EFHEE

FE 71 - #0A1 it E R H 2
0.45—= 2 ErER [ 0.50
FRig Y 0.77 12
BE =% iE
38.00
S AR YT BR
FRIEY
AshR 15cmLA T L = 3800 + 077 = 38.77 77.7 m
e & H
L = 045 + 3800 + 050 = 3895
ANE
An
>L = 3877+ 3895 = 77.72
B
AshR 10cmLLF A = 3800 * 1.27 = 483 m
AsFOER - 05
DIDAL=2.7km V = 483 % 007 = 34 m
W = 340 * 235 vn = 80t
INE AR RR E P A
W=300,t=30
YMIHEA BR-0SEG [A = 3800 x 030 = 11.4m 10 &
V = 1140 % 0.03 = 0.3m
W= 034 x 235 t/m = 0.8t




i3 I # iR E
FE A1 - #851 i OE AR M=
EEYEUEL
EinsrET DIDHL=2.7km
HIEEY 1.6 m
BEE%{AI;E(US1-A-B240)92kg/m L=38.0m
W = 380 % 92 = 1000 = 35t
V = 35 = 250 t/m = 14m
BEE5{8;% 2 (FC1-B-B240)40kg/#% N=15%%
W = 150 * 40 = 1000 = 0.6t
V = 06 = 250 t/m = 02m
SW = 35 + 06 = 4.1t
SV = 14 + 02 = 1.6m
T
av41)—k2)18-8-40 W=300 t=100
EEREE 1.0 &%
HERA
BAERARC-40(3R#ES)| A = 380 % 030 = 114m
avo)—k
218-8-40 t=100 |Vv = 380 % 030 * 010 = 1.1m




